Maytag A18CM 03 - CM CONTROL CENTER

2-3188
2-3188M
3-2996 2-3188N e
3-2996M -
3-2996M _——
./. ) p
2-5470 o 2-13034
: ' ¥
2-11294

i | o
i 52740 9-10309 52740

2-4327 = 1y

2-4327M e 3 2-8664 A T -

2-4664M
2-4664N
j: -
)
2 L]
2-4512 .
T
3
| -
2-12707
2-3304
2-13035 ' ) 3-4955 Yy
.- 2-3968 2-12276
= \
2-11294 f
¥ 2-13940
2-996
*2-4973
2-4327 P
2-4327M 2-12220
2-4327N — $.15060
*2-4973 Timer motor for 2-4577 timer with 2-12220 =D
Blue band escapement. NOTE: Blue 2-5415 2-13738

band escapement not available.

**CONTACT YOUR COMMERCIAL LAUNDRY DISTRIBUTOR FOR KEYS, LOCKS,
TICKETS, TICKET DISPENSERS AND CONTROL CENTERS.

Maytag Residential Maytag A18CM Washer Parts Parts Diagram 03 - CM CONTROL CENTER
Click on the part number to view part

Original Part Number Replaced By Part Description
001  Y052740 62739 Nut, Lock
002  NLA Not Available TIMER MOTOR, A
003 203188 Not Available (TV'V'\I’_'E'; oS OO
004  NLA Not Available QSEJE%T_?,\T R
005  NLA Not Available MTG. STRAP—NA
006 NLA Not Available mAREleSS'SW'TCH e
007  NLA Not Available COIN DROP ASSEMBLY
008  NLA Not Available COIN BOX-WHITE—NA
009  NLA Not Available MAIN WIRE HARNESS
010 204577 Not Available TIMER WITH KNOB AND PIN
011 NLA Not Available CONTROL CENTER-WHITE
012 204973 Motor, Timer
013 205415 279347 Switch-Lid

014 NLA Not Available MAYTAG COIN SLIDE


http://www.pwslaundry.com/c-504403-residential-maytag-a18cm-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10415761-maytag-62739-washer-dryer-nut-lock.html
http://www.pwslaundry.com/i-10406249-maytag-204973-washer-motor-timer.html
http://www.pwslaundry.com/i-10415045-maytag-279347-washer-dryer-switch-lid.html

015

016

017
018
019
020

021

022

023

024

025

026

027
028
029

NLA

211294

212220
212276
212707
212951

NLA

NLA
NLA
NLA

NLA
NLA
910309

W10116760

3196385

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

COUNTER KIT WITH
ACTUATOR

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, No.6-20 X 1-1/8 Inch
Screw

Screw

Screw, No.6-32 X 1/4 Inch

GASKET UNDER CONTROL
CENTER

Bolt, Locking

SPRING TENSION LEVER
RETURN

SPRING TENSION LEVER
RETURN

LEVER ARM FOR SWITCH

MOUNTING BRACKET FOR
TIMER

OUTER CASE-WHITE
COIN BOX COVER
Washer, Mounting Strap


http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10409599-maytag-213501-washer-dryer-screw-no-6-20-x-1-1-8-inch.html
http://www.pwslaundry.com/i-10414248-maytag-w10116760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10415186-maytag-3196385-washer-dryer-screw.html
http://www.pwslaundry.com/i-10409646-maytag-212951-washer-dryer-screw-no-6-32-x-1-4-inch.html
http://www.pwslaundry.com/i-10409637-maytag-213035-washer-dryer-bolt-locking.html
http://www.pwslaundry.com/i-10412660-maytag-910309-washer-dryer-washer-mounting-strap.html

	Maytag A18CM 03 - CM CONTROL CENTER

